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201 Bt A | 49,840 49,816 24
02 3524t 49,840 49,816 24
0 s34l 710
O Xrs XAl 80,000& = 3CH 240
O XNsX Z2AI2 50,000& = 3CH 150
O #ZNERE 2 80,000& x 2& * 23] 320
O d=Hl 21,658
O 3o 6,500& * BAI2F x» 72 2,808
Sl (SsE)
1,450& = 1,300¢ =* 10& 18,850
0 A& &Hl s XYl 3,472
O HAM 2,400 = 380m 912
O =X3 = 2,400& = 700m 1,680
[ORR=1=FSPN| 60,000& = 43| 240
O 02l 30,000& * 604 * 33 540
O 83=x 100,000& * 13 100
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- st=2 Xt 3,000,000& * 1CH 3,000
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0Oz 2 300& * 18,0002 5,400
0 J1eb Xk 2 ¢ 50,000& = 10 = 33 1,500
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O X2z S2LEX L tH+=2 ZHI3A
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